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ha the followmg ﬁnanc1a1 information during a given period :

A“',,, before Interest and Taxes (EBIT) ¥ 1,00,000

nvestments 500,000
Capitali: uon Rate/Cost of Eqmty (Ke) v 1o d509 Usaave ;

th 0% Debt and 100% Equity b U % 0t Siboe

£ ,-Debt and 60% Equlty ‘, ,v ) A . 52 | i 16%

"1«

160% Debt and 40% Equity gy
E m debt of § 2J ,000 at 10% rate of interest and ? 3,00 000 at 12% rate of mterest
ne the maxk,et;value of the ﬁrm W) and average cost of cap;tal or overall capltahsatlon rate
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under Traditional Approach.

Computation of Value of the firm (V) and Overall Cost of Capital (K))

. (a) (b)
Particulars % Dbt 40% Debt
Total Investments : i !l
Debt (3) il >00,0068
Equity () 5,00,000 3,00,000 m
5,00,000 5,00,000 5,00,000 -
EBIT (%) 1,00,000 1,00,000 1,00,000 | 1100,000
Less : Interest on Debt (I) ¥ e 20,000 36,00 J~
Earnings available to equity share 1,00,000 80,000 64,000
holders/Equity earnings (E,) (%) A
Equity Capitalisation Rate (K, 15% 16% 18%
Market value of Equity (S) [%_] ® 6,66,667 5,00,000 3,55,556.
e ) .
Market value of Debt (D) (?) — 2,00,000 3,00,000
Market value of the firm 8
[V=S+D]R® 6,66,667 7,00,000 6,55,556
Overall Cost of Capital (K, = [E%—IT] 15% 14-299% 15-25%
: -

» Comment :

It is clear from the above illustration that with the increase in
the firm is able to reduce its overall cost of capital (K,) from 15%
(V) increases from % 6,66,667 to Z 7,00,000. This is possible as the
available and the K, does not rise significantly. However, if more

equity (60%), the value of the firm decreases from ¥ 7,00,000 to
14-29% to 15-25%.

debt (i.e., leverage) from 0% to
to 14-29% and the value of e fi
benefits of raising cheaper debta
debt is used to finance in P ‘
¥ 655,556 and K, increases i

e

the firm to fall. Thus, by a judicious mix of debt a
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() If the company uses no debt
@) If the company uses ¥ 20 lakhs debt capital
(© If the company uses ¥ 30 lakhs debt capital
'the amount of 20 lakhs debt capital can be raised at 10% interest whereas ¥ 30 lakhs

Computation of Market Value of the Firm (V) and Overall
Capitalisation Rate (K ) under Traditional Approach

e markgt value of the firm (V) and the overall capitalisation Rate (K)) from the
jlowing information under Traditional Approach :

he estimated NQI of a company is ¥ 7.5 lakhs and the amount of investment is ¥ 50 lakhs.
he cost of equity under different situations are as under : —

15%
18%
20%

debt capital can be raised at 12% interest. Assume that there will be no corporate taxes.
4 [Almost similar to C.U. M.Com., 2008]

Overall Capitalisation Rate (K,) [_@;71—7»]

| Particulars (a) (b) (c)
Total Investments :
| — Debt ® — | 20,00,000 | 30,00,000
| — Equity 50,00,000 | 30,00,000 | 20,00,000
4 50,00,000 | 50,00,000 | 50,00,000
| BIT @ 7,50,000 | 7,50,000 | 7,50,000
| Less : Interest on Debt (D () — | 2,00,000 | 3,60,000
, Earnings available to equity 750,000 | 5,50,000 | 3,90,000
AJ shareholders/Equity Earnings(E,) €9)
| Equity Capitalisation Rate (K,) 15% 18% 20%
Market Value of Equity (S) [%J ) 50,00,000 | 30,55,556 | 19,50,000
Market Value of Debt (D) ®) — | 20,00,000 | 30,00,000
Market Value of fhe Firm ) 50,00,000 | 50,55,556 | 49,50,000
[V = S + DI
15% | 14-84% | 15:15%

\
’ Comment :

B . ‘
!tls evident that if a debt of T 20 lakhs is

| '90’000 to ¥ 50,55,556 and the overall cos
ble as the benefits of employing cheaper

By

 the fmore debt is used to finance in p
(V) decreases from T 50,55,55

.

used the market value of the firm (V) increases from
t of capital (K,) decreases from 15% to 14-84%. This is
debt are available and the K, does not rise significantly.
lace of equity, i.e., ¥ 30,00,000 debt capital, the market value of
6 to T 49,50,000 and K, increases from 14-84% to 15-15%.




